# 1T Ei| =
HY A AR
= ¥ 4 BT JNPEREESS bW B ESE T
B Bk LY
AFfL# B 45 Fn54E4 H 25 H LR 100
F & i K 1,760,000  (N{HEBL 160, 00019 )
% AL EE M7 B R i i SRR B T 4151
M= 2 — LI 2ET
& 1T #1 M SFN54E4H 26 H ~ 546 H30H
% . &% 1,650,000  (N{HEBL 150, 00019 )
O TRE SFN54E4H 26 H
B4 % t e Bt AFL O E il B3 5 EME 8 o MEIC X D
M = HEAKR o TR NI E o T2 W OB 2475 Z LIc kD, N TOERZEEEHRT5 D
D,
(AFLEEE L, HERIREOEEETT)
% PR o1 A %2 |4 % 3 |4 {iid =

T TR 1,730, 0001

i FF 2E S 1,700, 000[1]

%ﬁ%%ﬁﬁ%&f :/57‘“ iu&';@?% 1’ 500’ 000']% [ @ $L ]

PSR 1,750, 000[1]

FFETHEMW IR

1, 650, 000




# 1T Ei| =
HYEA AR
= ¥ 4 B D) BEKEE G S i B 7t
B Bk LY
AFfL# B 45 Fn54E4 H 25 H LR 100
F & i K 513, 700  (NTHERL 46, 700 )
WL ¥ E IR B VR S i g = A 1-5-13
FETHM Ik B 3T
& 1T #1 M SFN54E4H 26 H ~ 546 H30H
I E&HE 418, 000  (NHEBL 38,0009 )
O TRE SFN54E4H25H
B4 K% T i HE 44 S A AFL O E M B 5 B 8 ko BEIC XL B
M = HEKR 7O SR E EWCATY) 2 Lok, WEEIET 560,
(AFLEEE L, HERIREOEEETT)
% PR - R E] %2 |4 %03 A {iid =

T TR 450, 0001

i FF 2E S 500, 000[1

@%%ﬁﬁ%&f :/57‘“ iu&';@?% 460 Ooqu

5 ,

PSR 500, 000[1

FRITHEMW e 2T 380, 0001 [ % #L )




# 1T Ei| =
HY A BEEtY . 2 —
= ¥ 4 H B fE AR B 4 — N — R — L
B Bk LY
AFfL# B R4 H 25 H LR 100
F & i K 2,401,245/  (NEEBL 218, 295M )
% AL EE ety B2 3. - i T g 1 FE BT 3-25
2 IR IR
& 1T #1 M SFN54E4H 26 H ~ SM6FE3H3LH
% . &% 1,650,000  (N{HEBL 150, 00019 )
O TRE SFN54E4H 26 H
B4 % t e Bt AFL O E il B3 5 EME 8 o MEIC X D
M = BEHMEER NI & DR~ K &2 EFICEEMRB ST 2720 FE T2 H D,
(AFLEEE L, HERIREOEEETT)
% R o1 [\ %2 |4 % 3 |4 fir =
SRR 1,500,000/ [ % #L ]
BREA B L34 Iy B 36 AT [ & 32 )
R 7 B 2% i [ &2 & ]
WEA1 T 1,710, 0001

= A A N

1, 950, 000




